
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING 
Maximum: 60 Scores 

Time: 2 Hours 

 

PART – I 

 

Answer all questions from 1-5. Each carries 1 score (5x1=5) 

 

1. When a new partner brings share of goodwill in cash, the account to be debited in 

_______ 

a) Goodwill 

b) Capital Account of new partner 

c) Cash A/c 

d) Capital a/c of old partner 
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2. Partner are entitled to get _______ in the absence of agreement 

a) Salary Account 

b) Share of Profit in Capital Ratio 

c) Interest on Partners loan @ 6% p.a 

d) Commission 
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3. Which of the following is prepared at time of dissolution of a Partnership firm 

a) Revaluation A/c 

b) Balance Sheet 

c) Profit & Loss A/c 

d) Realisation A/c 
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4. 

__________  

a) Old Ratio 

b) Sacrificing ratio 

c) New Ratio 

d) Ratio of their capitals 

 

4. 

a) �+��!(��
���

b) �)
��!(��
���

c) ������!(��
���

d) !����$��%&'(?���$�!(��
���

�

5. 

a) 

b) 

c) 

d) 

When business of a firm become unlawful, it will lead to ______.

Dissolution by court

Dissolution by notice 

Compulsory dissolution

Dissolution by agreement

 At the time of retirement of a partner, goodwill appears in the books of the firm should be written off in the 

ratio.

പങ്കാളിയുടെ വിരമിക്ക� സമയത്ത ുബുക്കി� കാണുന്ന ഗുഡ്‌വി� തുക ഒഴിവാക്കേണ്ടത് ഏത ു
ലാഭ അനുപാത്തി� ആണ്?
 



 

5. 

a) 

b) 

c) 

d) 

�

Answer all Questions for 6-7 each carries 2 Marks 

 

6. State the rules applicable for the following cases in the absence of Partnership Deed. 

a) Project/Loss sharing 

b) Interest on Loan 
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7. P, Q, R share profit and losses in the ratio of 4:3:2 R retires from the firm. P and Q 

share future profit in the ratio of 3:2 Calculate gaining ratio of P and Q 
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Answer any two Questions for 8-10 each carried 3 score 

 

8. A and B are partners in a firm sharing profits and loss in the ratio of 3:2. They decided 

to admit C into partnership with ¼ share in projects. C brings in Rs. 30,000/- for Capital 

and the requisite amount of premium in cash. The goodwill of the firm is valued at 

Rs. 20,000/- . The new profits sharing ratio is 2:1:1. A and B withdraw their share of 

good will. Give necessary Journal Entries. 

ഒര ുബിസിനസ് ‌ നിയമവിരുദ്ധമാകുന്നത് ഏത ുതരം അടച്ച ുപൂട്ടലിന് കാരണം ആകുന്നു

കോടതി മുഖേന യുള്ള അടച്ചുപൂട്ട�
 

നോട്ടീസ ്മുഖേന യുള്ള അടച്ചുപൂട്ട�
 
നി�ബന്ധിത അടച്ചുപൂട്ട�
 

കരാ� പ്രകാരം ഉള്ള അടച്ചുപൂട്ട�
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9. On dissolution of a partnership is what order must the proceeds of the realization of 

assets be applied? 
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10. A and B are partners sharing profits and losses in the ratio of 3:2. Their capital balances 

on 1
st
 January 2010 were Rs. 40,000/- and Rs. 30,000/- respectively. On 1

st
 July 2010 A 

had withdrawn Rs.10,000/- and on 1
st
 September 2010 B had withdrawn Rs. 6,000/- out 

of capital Calculate interest on Capital @ 6% per annual for the year ending 31
st
 Dec 

2010. 
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Answer all questions from 11-12 each carries 4 marks 

 
11. Amar and Akbar are partners sharing profits and losses in the ratio of 4:3. Their 

Balance Sheet as on 30
th

 June 2022 is a follows;  

Liabilities Rs. Assets Rs. 

Sundry Creditors 37,000.00 Cash in hand  3,000.00 

Capitals  Cash at Bank  4,000.00 

Amar 35,000.00  Debtors 25,000.00 

Akbar 25,000.00 60,000.00 Stock 45,000.00 

  Furniture & Fittings 20,000.00 

 97,000.00  97,000.00 
 

Antony is admitted into the firm with 2/7 share. The following are the terms and 

conditions  

1. 

of the goodwill of the firm is fixed at Rs. 35,000/- 

2. The amount of furniture & fittings should be written down by Rs. 5,000/- 

3. The full amount of good will should be withdrawn by old partners. 

4. Creditors should be reduced by Rs. 2,000/- 

5. The new profit sharing ratio should be 3:2:2. Prepare Revaluation Account  
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Antony should bring in Rs. 40,000/- as his capital and share of goodwill. The value 
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12. 

 

 

 

 

 

12. 
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Answer all questions from 13-14 each carries 5 marks 

��

13. On 1
st
 January 2021, Cini and Jeena Started a partnership business contributing 

Rs. 25,000/- and Rs. 15,000/- respectively towards capital and agreeing to share profits 

and losses in the ratio of 3:2. As per the agreement, partners are entitled to interest on 

capital @ 10% p. a. and Jeena is entitled to a monthly salary of Rs. 200/- 

During the year 2021, Cini and Jeena withdraw Rs. 4,000/- and Rs. 2,000/- respectively. 

The interest on drawings worked out to be Cini Rs. 150 and Jini Rs. 100. On 31
st
 

December 2021 their profit and loss account showed a credit balance of Rs. 12,500/- 

before making the above mentioned adjustments.  
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Ajay, Manu and Vijay are partners sharing profit and loss in the ratio of 3:2:1. Ajay retires from
the firm and his sahre is taken over by Manu and Vinu in the ratio of 3:2. On Ajay's retirenemt 
the goodwill of the firm is valued at Rs.1,20,000. Finally the amount due to Ajay is transfered 
to his executers loan account.Calculate the following:
 
(i) The new profit sharing ratio and gaining ratio.
 
(ii)Treatment of goodwill on retirement. 

അജയ് ‌, മന,ു വിജയ് എന്നീ പങ്കാളിക� ലാഭംനഷ്ടങ്ങ� share ചെയ്യുന്നത് 3:2:1എന്ന അനുപാതത്തി� ആണ്. അജയ് 
സ്ഥാപനത്തി� നിന്നും വിരമിക്കുകയും അവരുടെ ഷെയ� മനുവും വിജയും 3:2 എന്ന അനുപാതത്തി� 
ഏറ്റെടുത്തു. അജയ് യുടെ വിരമിക്ക� സമയത്ത ുസ്ഥാപനത്തിന്റെ ഗുഡ്‌വി� തുക 120,000 ആണ്.അവസാനം 
അജയ് ക്ക് കൊടുക്കുവാനുള്ള തുക അവരുടെ എക്സിക്യൂട്ടോ�സ് loan അക്കൗണ്ട് ലേക്ക് മാറ്റി.
ഇതി� നിന്നും താഴെ പറയുന്നവ കണ്ടുപിടിക്കുക.
 
(i) പുതിയ ലാഭ അനുപാതവും നേട്ട അനുപാതവും
 
(i)വിരമിക്കുമ്പോ� ഗുഡ്‌വി� എപ്രകാരം രേഖപ്പെടുത്തും
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14. Nimal, Jose and Sahid are partners in a firm. Jose retires from the firm. On the date of 

retirement Rs. 50000 becomes due to him Nimal and Sahid promise to pay him the 

amount in five equal annual installments at the end of every year together with interest 

@ 10% per annum on outstanding. Prepare Jose’s loan account for the first four years.  
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Answer any one questions for 15-16 carries 8 marks 

 

15. Following in the Balance sheet of AB Traders who share profit or loss in the ratio of 3:2  

Balance sheet as on 31.03.2022 

Liabilities Amount Assets Amount  

General Reserve 10,000 Cash 50,000 

Creditors 58,000 Debtors 60,000 

Outstanding Expenses 2,000 Stock 40,000 

Capital   Machinery 1,00,000 

A 1,80,000 Building  1,50,000 

B 1,50,000   

 4,00,000  4,00,000 

 

C is admitted as a partner on the date of Balance sheet on the following term.  



a) C will bring is Rs. 1,00,000 as his capital and Rs.15,000 as his share of goodwill for 

1/6
th

 share in profit 

b) Stock in valued at Rs.44000 

c) Machinery to be depreciated by 10% and the value of building is to be appreciated 

by 10% 

d) Provision for doubtful debts is to be Rs.2000  

e) A creditors of Rs.2000 is not likely to claim his money and is to be written off.  

f) Prepare Revaluation A/c. Partners Capital A/cs. and Balance sheet after admission 

of C.  
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16. The Following is the Balance Sheet of P,Q, & R sharing profit and loss in the ratio of 

2:2:1 as on 31.03.2022 

Balance sheet as on 31.03.2022 

Liabilities  Amount Assets Amount 

Creditors 30,000 Cash  15,000 

Bank overdraft 14,000 Bill Receivable  18,000 

Mr. P’s Loan 10,000 Debtors 20,000 

Capital   Stock  18,000 

P 30,000 Furniture  10,000 

Q 20,000 Land  25,000 

R 10,000 Profit and Loss A/c 8,000 

 1,14,000  1,14,000 

 

The firm dissolved on the date of Balance sheet. On dissolution, following activities 

may be happened  

a) Bills receivable and debtors realised for Rs. 15000 and Rs.18000 respectively  

b) Stock realised 20% less than the book value. 

c) Furniture in taken over by Q for Rs. 12000 and land sold at Rs. 13000 more than 

the book value  

d) Creditors are paid Rs. 27500 in full settlement  

e) R agreed to discharge the liability on bank overdraft  

f) Realisation expenses paid by P Rs. 6500 prepare necessary ledger a/cs to dissolve 

their firm.  

� �
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PART –II 

COMPUTERISED ACCOUNTING 

 

Answer all Questions. Each carries 1 scrore 

17. In a retail business shop, a code number range from 2501 to 2599 is assigned to the 

product Bath soaps. This coding is an example for ____ codes 
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18. COUNTIF is an example for _______ function 
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19. Which one of the following is a deduction in the calculation of NETPAY in payroll 

a) HRA b) PF c) DA d) BP 
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a) HRA b) PF c) DA d) BP 

 

20. Which function is used in Libre office Calc to calculate EMI of a loan 

a) NPV b) PMT c) COUNT d) FV 
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a) NPV b) PMT c) COUNT d) FV 

 

21. Deposits to Bank are recorded by using ____ type of voucher 

a) Payment b) Receipt c) Contra d) Journal 
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a) Payment b) Receipt c) Contra d) Journal 

 

Answer any one question from 22 – 23 carries 2 marks 

 

22. 

method and Diminishing Balance Method. 

State  the  function  available  in  Calc  for  Calculating  depreciation  under  straight  line 
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23. 

 

 

23. 

 

 

Answer question 24 carries 3 marks 

 

24. Explain the steps to create charts 
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Answer Question 25 carries 4 marks 

 

25. Explain any 4 features of  CAS.  
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Answer any one question from 26 – 27 carries 5 marks 

 

26. Explain any 5 Statistical function.  

 

26. :��	�&���5 Statistical function������"��>�
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27. Write the procedure for recording transaction of Alpha Ltd with we help of accounting 

software  GNU khata.  

 

What is an entity in database?
 
Give an example for database?

ഡാറ്റബേസി�, എന്റിറ്റി എന്ന് പറഞ്ഞാ� എന്താണ്?
 
എന്റിറ്റി ക്ക് ഒര ുഉദാഹരണം എഴുതുക?
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1/1/2022 Started business with cash Rs.1,00,000/- 

2/1/2022 Deposited into SBI Rs.40,000/- 

4/1/2022 Purchased goods from Raju Traders Rs.18,000/- 

6/1/2022 Sold goods Rs.5,000/- 
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